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CLAS (CEBAF Large Acceptance Spectrometer)

Torus magnet

6 superconducting coils

Largeangle calorimeters
Lead/scintillator. 512 PMTs

Gas Cherenkov counters

Drift chambers | e/m separation, 216 PMTs

argon/CO, gas. 35.000 cells

Electromagnetic calorimeters
Lead/scintillator. 1296 PMTs

Time-of-flight counters
plastic scintillators. 684 PMTs

EuGpghwu gpwugbint hwdwn:




CLAS/eg2 qhnunthnpanp b phpwjup

Qhunwthnpéu hpwywlwgyt) £ 20041
duph EuGpghwU® 5.014 Ak
duph hnuwipp® 8 LU

[¢hpwhup Ynyuwyh E° LD2 YnhngbUhy L npwl hwgnpnnn
whun-rhpwhu (*2C, *¢Fe, 298Pb) [inyjw| w2huwwnwupnid 2%Pb]
- oF T3

Aluminum Supply/Support Tubes

Aluminum
Support

Ring~

Torlon

Base 7

Cone
Standoff Inside Cone W|th

Entrance Foil on End Exit Fonl




Fitiunpnuubtph tnyuwljutwugnuin

EilGyunpnuuGph  Uunguwywuwgnudp hphdudnud B npGdwjhu
rughyuGpnud  (DC) ElGUwnpnup hGuwph Jepwywuqudwl,
2Gptuyndywt hwoayhsutpnud (CC), ughuwnpjwughnu hwayhsuGpnid
(SC) L ElGUunpwdwaquhuwywu YwinphdGunpnud (EC)
thnpuwgnbgnipejntbutnhg unwgywd hudnpdwghwh ypwi:
EC-U>60cm, EC-V <360 cm, EC-W <395 cm

EC total / P vs distance from U view of EC [cm] EC total / P vs distance from V view of EC [cm] G ”‘.:»: EC total/ P vs distance from W view of EC [cm] oy
e o 05 . e, %% o 05 X i~
el 10 : my o Gm 2 RS o
s ¢! Soss AL ! 0 Boss ! il
Avsy  3a%0s 8 i i ik kit A = Q & 3 \ ey =|
el i R i e AR A
)
.= g N o 0
- d - e -
% | 4 | =|
Al !
I | I |
8 180 380 9 20 35 00
% o 200 i Uview fem) L om fem] istance from v:ewcltC‘[cm|
? 4170
] S
1




[Gunpnuubph utnyuwwuwgnd

ECy ECx
- Entries H995205
= Mean x 0373
- Meany = 70—7.837
300 — RMS x 1235
= RMSy 126
200 —160
100 — 150
0 — 40
-100
—130
-200
20
-300
10
-400 _
‘ A T ‘ [ ‘ I ‘ [ 0

| |
100 200 300 400




EiGunpnuubph tnyuwljutwugnud
Lnyuwywuwgdwl hwdwn Yhpwnyt) GU bwle wy uwhwdwhwynedubn

* ElGYunpwdwguhuwywu YwinphdGunnh (EC) UGpphu hwunydwdnud ELuGpghwih
YnpnLunGpp wytwnp £ jhutu JGd 50 JEY-hg, ECin(EC(0)) > 50 UEU,

* Elyunpwdwquhuwywu YwinphdGunph (EC) wpunwphu hwwndwonud
EuGpghwjh YynpnLrunubipp wtwnp £ (hutu 10 JEJ-hg UG, ECout(EC(0)) > 10 UEY

« Qbptuynywu hwayhsutpned (CC) wtwinp £ wnwowuw wytih pwu 2.5
dnunntGYwnpnu, nphe(CC(0)) > 2.5:

EiGyunpwdwquhuwywu YwinphdGunpned (EC) punn hdwniup Unpdwdnpdwd

EuGpghwU® ECtot(EC(0))/p : Wju hwpwptpniejnitup wwnpwdtunphqugyb| £ npwGu

dnLuyghw hdwnrupg, GL Yhpwnytb| £3c uwhdwuwdwyndutbin: Ujuntn o-u

ECtot(EC(0))/p-nh QGunLujwl $nLuyghwyh jwjunypu £, nnp unyuwtu $nuyghw £

hdwntjuhg:

= 05—+

ECout vs ECin

Entries 594707
Mean  72.87
RMS 49.21

ECout_ECin
i 417499

0.2063
01074 10000

0.1336
0.1085

0.45

Cout [GeV

w 04

0.35 8000

0.3 o I

- il 6000
f S

0.2
4000
015}

(o)

01| &
& 2000

0053

OO ‘0.05 l 0.1l IJ0._15l ‘O.ZH 0.25 ‘0.3 035 0.4 0.45 0.5 0 40 60 80 100 120 140 160 180 200
Ecin|Gev] CC num. p.e.*10

o
n
o




EC_Etot/p

|

0.5

o
[&)
\\‘\H‘HH‘WH‘HH‘

-
(=}

-

[}
@ 2.
» g z
< X
o
o) [Nl
[ X]
» aa
o aw
[ IR |
"
<

dEpht b uvnnpht tuptbpnid
hudwywnwupwbwpwp
wuunlipqus o EC-nud
wupnng tutpghuyh bt huwynijuh
hwpwpbpnipjut (sampling
fraction) Juujwénipniup
puwnijuhg Yppunfws
uwhdwbwthwlnudubphg
wnwg(raw data) it htwnn:




[Gnnpnuubph tnyuwljuuwgnid

T_slice 0
P{(0,40-0.70) Gev Entries [E55]
F Maan o312
C AMS 007877
;o 72 et 4553 /59
F M 263+ 28
C pl 02801 + 0.0015
=0 — p2 004836 + 0.00240
s
IW:—
wE
0:._._._.J_....I... 7l EFEFETITS EFSTRTITS ENAATI ATAAT A A AAE AR A
.08 X1 [H 025 [E] 0.35 04 0.45 [13

T_slice ¥
P(1.30-1.60) Gav Entries EICE
F 02525
£ 006286
s — 50.5/58
£ 5022 + 4B
o 0274 1 0.000
s 02656 + 000038
a0 [—
a0
foe[—
aliiay FEFITE EPENATITS ENAT AT AU AT AT o
.08 o1 X1 o2 025 [-E] 0.35 [T} 0.45 (13
T_slice §
P{2.20-2.50) Gev Eiriea 26358
F Maan 02603
o= AMS 008568
= 32 el 57.24/59
C 45811 44
0 — ] 02818 + 00002
C [ 000414 + 000026
wo—
00—
100 |—

2 8 8B 8 & B

T_slikce_{
P{0.70-1.00) Gev Entries 50361
= Mean 0261
£ M3 0.06125
C 52 rmdt 4851/ 38
'l [ 5376 1 56
F pl 0.2663 + 0.0004
E P2 003514 + 000183
C M FFErEE A PP EPEFES ISP el s
008 o1 015 [H 03 035 04 045 [
T_glice 4
P{1.60-1.90) Gev Entries 32678
F Meah 02583
E 006303
= <2 et 5076/ 5
F 4855 + 45
ul 02772 + 00003
F 002586 + 000034
G sl e aad iy
005 o1 o158 [H 03 035 o4 045 [
Ti_slice_T
P{2.50-2.80) Gev Entries 23888
Mean 0.2619
M3 0.0B35
52 rmdt 8258
AT 2 44
[l 0284 : 0.000
[ D745 + 000026

|
0.35 04 [T [1

F_alice 2
P(1.00-1.30) Gav Entries 43758
F Mean 02524
E RS 006088
- o Indt 45.55 /48
F M 5328 1 51
£ pi 02702 + (0004
nll B2 0020882 + 000058
G " ol b Loy b Loy

.08 [} 15 [F] 025 [E] 0.35 04 045 [13

F_alkce §
P(1.80-2.20) Gav Eniries 28967
F Meah 02585
L RMS 00646
C o Indl 5681 /50
C 4705 45
- 02797 + 00004
C 00E5TT + 000043
G PRI ANAE el B il AR BN B

.05 o1 1] o2 [H [E] 035 [T} 045 (13

F_le B
P{3.10-3.40) Gev 17540
F 02631
= 006782

3071
3355 1 46
02866 + 0.0005

p2 0.02%2 + 0.0008

[




TMpnunnuubph tnyuwljutwgniud

Mpnuinnuutpp  Unguwywlbwgynud GU  pun npwug Rrhsph
nlnnncjwu, npp swithyned £ ughunhywghnu hwayhsutGpned (SC):
MpnunnuutGph UngUuwywlwgdwl wdGUwunwpwdywd Gnwuwyp
npwug sudwl ququh dwdwlwyh (t,e.) nnn2nLdp W ytpghupu
Jpw uwhdwuwthwynrdutph Yhpwnnedp:

_ Rsc
At = tsc—rﬁ]c— Lot

tsc - ughunhywghnu hwadhsh swihwd dwdwuwyu £
Rsc- SUJwU quawrehg Uplusl SC Gnwd hGnwynpnupynLulu £
ts¢ - nGwpeh gnwlgytint dwdwlyu E (t.,)

1%

1Bl = \/m




dt(ns)

3375900
Mean x 0.9792
Meany -1.85

TMpnunnuubph tnyuwljutwgniud

tjupnmd ywuwnljipgws k At dudwtwlh jujudusénipniup hdwnijuhg




TMpnunnuubph tnyuwljutwgniud

400

P(0.20-0.30) Gev

_slice_ 0
Entries 624870
Mean 0.5821
RMS a.272
7 I ndt 317.41 207
po 460.9:+ 2.0
pL 1134+ 0.015
p2 2.853 + 0.027

) E] [] ] 1
Ih_slice_Z
P{0.40-0.50) Gev Entries 731860
= Mean -0.4882
RMS 3.281
i I nat 4333147
1600 o 1700+ 85
1400 pl 0.2833 £ 0.0193
p2 0.8157 + 0.0264
1200
1000
a0
600
400
200
i slice 4
P{0.60-0.70) Gev Entries 572365
F Mean -0.7892
2500 RMS 3132
= i I nat 2464127
E po 2576+ 129
2000 AL 0.1184 + 0.0075
p2 04276 + 0.0117
1500 [—
1000 [—
T } 4
3 i ] T

_slice_T
P{0.30-0.40) Gev Entries 765106
E Mean -0.2196
C R 3.578
1200 — 7 I ndf 177.71 147
po 1212444
1000 pL 0.4386 + 0.0063
p2 1431 + 0.012
Ih_slice_3
P{0.50-0.60) Gev Entries 657304
2500 F— Mean -0.6186
C RMS 3.053
= * 1 ndt 5054 [ 47
F po 2332+ 08
o pL 0.1737 + 0.0057
E p2 0.5608 + 0.0079
1600 [—
1000
500 [—
=T $:
[ ] T
T slice §
P{0.70-0.80) Gev Entries 485456
E Mean -2.3%6
RMS 4321
2500 7 I ndf 38.481 27
po 2605 + 138
pl 0.07457 + 0.00365
2000 p2 0.3456 + 0.0062

1500

1000

&0




TMpnunnuubph tnyuwljutwgniud

1018698

e Mean x 0.7785
= Meany 0.1536
o
— 10
— 1
I I I 107"
2 25 3
Pp(GeV/c)

15
tjupmd  wuultpJuws E At duwdwbwlh Jwpdwoénipniup hdwnijuhg ( ]
JhpunJws vwhdwtwhwlnudubphg htwnn:



Ninnuiubp

Z vertex vs Phi before correction Z vertex vs Phi After correction

. Z_phi _ Z_phi_corr

4 - | Entries 293916 g “-% Entries 293916

= Mean x -28.45 = Mean x -28.76

£ Mean y 182.2 = * r: : v Mean y 1825
RMS % 2.718 TRy \ g -t RMS x 2.635
RMS y 102.6 4

102.7
80

Z vertex [cm] Z vertex [cm]

Z_phi_corr_2
“y+| Entries 293916

=2 =2
| Mean x -28.49 750" =z 4+ 7z, — Zfié’i + ¢ Z gié’i
Mean y 152.6 i=0 i=0
..{ RMSx 2.94 B -
" RMSy 1028

corr _ . scorr __ by (cos ¢ — b,)
VA =7
tan 6
b, = 0.361 ut b, = 1.7054 nwn

Z vertex




Ninnuiubp

2000

1800

1600

1400

1200

1000

800

600

400

200

|I|||||‘|||‘|I|‘||l‘III‘III‘III‘III‘III‘III

Entries 447868

I o |

o
&

| O
N
o

35 730 25 20 15
Electron z vertex (cm)




“Thypbph punpnieyniu

63158 11459
g 4 B e xea" v 0 £ AF Mean x -24.88
< L leany -285 < M _
N 2 N o1 eany -24.92
c [
g L o
g U 7 5 2r
uor T
26 B
L | 10 C
B s L
52 s
S =L 7
36— 28
%8 -29;
: _f - I | 11 I M I | 1 ‘ 11 11
s " M > 7 R
Proton vz (cm) Prpton vz {cm)

Quiju b we tjwupubpnid hwdwywunwupwbtwpwp yunltpgws tu £ Ejupnuh
L wpnunuh dudwt ququptubph Jwpyjwosnipnibubptt tu  wwpphp

phpwjuutnh (LD2, 2%Pb) ntypnid, Yhpundws vwhdwiwthwlnidubphg wnwe ( . J
b htwn:




Umnuwgywo Upryniupubn

180
b B 4394598 m:zg; 01‘(‘)“1' [ Enties 26678
160 — — ,,
L — 102 W Ml%\l
L e I I
140? ] Nﬂ](
B 2 ‘Lx

=)
R>
T \\\\\I‘

j—y
e
I

=]
\\\\\Hl

20

R MMM

Lol t
0 02 04 06 08 1 12 14 16 18 2P 0 02 04 06 08 1
P

l\>

Qufu dwuntd ywwnybpdwsé b wypnunnnbObph waywb YwiudwdénipintGb hdwniup pwptunctdhg (e'p)
nGwpbph hwdwp : Ug dwuntd wwuwnytpgwé £ ypnuiinGbtph hdwnih pwfunidp, 6 > 100°
woyniabbph nbwpnid




cunNrIudyuLniFe3NiFy




